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June — Examination 2022

M.Sc. (Previous) Examination
ZOOLOGY

(Biochemistry, Physiology and Immunology)
Paper : MZO-03

Time : 1% Hours | [ Maximum Marks : 80

Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.
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Section—-A 4%x4=16
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of

the question delimit your answer in one word, one

sentence or maximum up to 30 words. Each

question carries 4 marks.
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1. (i) What is Activation Energy ? Describe with

suitable example.
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(1)) What will happen when cytosine deaminates ?

Explain with molecular formula.
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(ii1) What are neurotransmitters ? Explain the

following with examples :
(@) Neuroexcitator
(b) Neurosupressor
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What is Signal Transduction ? Explain the
following :

(a) Autocrine signalling

(b) Paracrine signalling

(¢) Endocrine signalling
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Explain the following :
(@) Oxygen-haemoglobin dissociation curve

(b) Oxygen-myoglobin dissociation curve
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(vi)
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Explain the following :

(@) Lymphoid Progenitor Cell
(b) Myeloid Progenitor Cell
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(vii) Write short notes on the following :

(@) MHC
(b) Epitopes
(¢) Cytokines

(d) Interferons
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(viii) What is Mad Cow disease ?
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Section-B 4x16=64
(Short Answer Type Questions)
Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 16 marks.
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2. What is ELISA ? Explain its type.
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3. Explain the humoral and cell mediated immune

responses.
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. Write notes on the following :

(@) Complement system
(b) Cells of immune system
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. Write notes on the following :

(@) Hypersensitivity and its types
(b) Monoclonal antibodies
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. Explain the mechanism for transportation of O,

and CO, during respiration.
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7. Draw the labelled diagram of Neuron and explain :

(a) Synapsis
(b) Resting Potential
(c) Threshold Potential

(d) Action Potential
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. Write notes on the following :

(a) PB-Oxidation of Lipids

(b) Nucleic acid biosysnthesis
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9. What are E.C. (Enzyme Commission) Number ?

Explain the following :

(@) Factor affecting enzymatic activities

(b) Coenzymes and abenzymes

(¢c) Peptide bonds in protein
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